JKTER] (ALY FREIRE

WHARR: KT BE AR TEHIE

15 H i

WUH AL (3D ] KT B L &

EEI): TOKNHEE R

B @BEIETHZ OERIEHE O = PR
F H 9 2022 4F 10 H 17 H

I CRAD EIFEE. W BRSO BB AL L

20224F10H17H 20224104 17H

WA SO 10 M 55 e = e Atk T L -

2022510 17H



T HE AR

I IKEE I3 e R

— YRI5 H 4R a 2T H AR — I H gl 421381231550310000111
g ek [ IR g ) BI-AGLHIRE (W b
Tt H 22 e 01— AE 15 H T H J& 01-Fp&E 10 H FEAE 06—} R SCAL
LT 155-T KA R [#d R F 20 5 X
T H IR 2023 T H HA R 54 o3l 77 50 it H ¥
EP HRREER 51 KT E RIRAEIR 5T | &R H o
e AL & ST B B & Fifi e fir PR A
H AN Q
R A R AR = TN T W
157 N LI 0722-6891146 |4 432712 FAT Hb ik SRR KIELILS
TRV @ ARG vt = TS RIH @
3 TP & e S HER SR & T H A 200000
1 H 3 SR (2017145 S ERAN 200000
Tt 5 MEiA T H SEit 5 2 AR SN WA WS B — e o, TARRCRIS 2 B0k .
5 B Sy % SRR L rAE I, AT TR L AUVEEY)S, HEE RERHEATEUERNY, B IR BT RS
N - T H St J5 A AR T A DR BE LS, NRBEANTEE 10 5 A Wi =
— R R B

P B 7 i




8.

ey

IS O IS A % 35

G AR WHAESSHIGN | SO bRAE | oD [ THE AL THEE () e

M SR 45 (2017145 3C

MO001— H 7E E 50007C/ & 5000 =) 8 40000 o o .
st I e " PRI 2

WRAE S Gk [2017] 453
PRSP AN 2R 75 I 55

o

3P 60007T/ & 6000 10 60000

WA SR 45 (2017145 3C

JRN B g . . .
IRASRE |120008/28 | 1200 = 25 30000 (A N 2 0 7

WRIE TR G [2017]45 3L

AT 40007G/% | 4000 = 8 32000 (A T 2 7 T

M SR 45 (2017145 3C

pa PN
S EIHL 600070/ | 6000 PRGN 27 A 5 D B

op
w

18000

WY T G [2017]45 3
PR 2R 5 EL

o
[N

& 2 HL K 50007%/ G 5000 20000




B ST RIR

s

R

HIFRAL (o)

iz o

#rit

2023

200000




SO H AR

ST A by

G H b

W H SRt 5 I A SRR R — e, TR A

BRI

T H SE R I SRR B o, TARRCRfE

BRH IR




GUBIRIR R

EARGUFE bR HLUGAE 2R
Iy o BAE | B || gepege |oemmn | sepepmomm | s o e o k= g
o FEPR 2R b o WERS| f/tnE | TFERAL | FeAREVR | TefrfEfE ks | SR RIE
851 febrfE | febnME
1 [P~ abs
HEdebs
FTERRLE R = 8 & TAEHEI
SPA R = 10 & TAETHRI
I SRR = 25 = TR
B AT B = 8 = LAEHRI
STENHLECR = 3 & TR
& 3 = 4 =) TAEH&I
R bR
B R A iR = 100 % TAEH&I
i ZfE b
T H 52 A 18] M [20234E12 H )RR TAEH&I
AR b
T A RA = 200000 i LAEHRI
2 | iEbr
L an Fa bR
AR G (=02
R - 8 i TAETH
T K = 2820 A TAEHRI
ARG TERR
A FREEC R bR
B4 3 FIAEBR > 5 i TAEHRI
3 IR iEbr
W E e b
BTN . ST > 95 % TAEESR




FIEIRR

T SUAIE bR

i b 4475 i T EE DAL [HE] oy e SRR
= A N — — Joiv N Y AN N T E A EE %z y
1 = Hfers
BEtatbr
FTERML SR = 8 =] TAETH&I
3P A = 10 = TAETRI
IO SRR = 25 = TAETH&I
AT B = 8 = TAETRI
ML SR = 3 =) TAETH&I
3 = 4 = TAETRI
Gig=%i=tn
BERBELHE = 100 % TAETRI
i XFa b
T [ 52 e 4] SEME [20234E12 H T TAERI
A TE bR
T H 8 A = 200000 JC TAETRI
2 |Baifebs
ARG TR bR
SR TR
R = 8 it TAETH&I
A L LIN = 2820 A TAETRI
LER R fa b
QIESESS-AlEER AN
B4 A AR IR = 5 F TAETRI
3 IR iEbr
WEE bR
B BT . R = 95 % TAEER




